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Ratio to CMS

10?

10

[EEY

0.5

7000 GeV pp Z+Jet
L L L L L L = B2
. . 15
L Filtered jet mass(CA(1.2), 2300<p_<450, |y|<2.5) 43
— g E
— — ™M
— oV
— ] N
- ] e
I LA]\,A .
= ﬁ i =5
— [ -+
— [© — D
- T —H>
: " v‘x\m\_‘i_\r A : o
| ] e
= n N
L d=
- ™M
@
o™
— —s©
- 94
- <
— m CMS — E
[ “—a— Pythia 8.308 default 15
= i Pythia 8.308 tune-1 =5
~ Pythia 8.308 tune-2c <
B Pythia 8.308 tune-2m ] 8
)
_ _15
— 9 o
— )
:l | | | | | | | | ' | | | | | | |: E
:l T T T T | T T T T | T T T T |:
S g =
~ \ i -
| a ]
- \ / ]
Ar‘,‘_“/m ™
B A/‘—/‘\/u I
1
| —0.5
L. N M 1
0 50 100 150

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


